

A NOTE ON FOUR DIMENSIONAL SUMMABILITY METHODS

MEDINE YEŞILKAYAGIL SAVAŞCI

ABSTRACT. Ishiguro studied some two dimensional summability methods in [7]. In this paper, we define the four dimensional Zweier matrix and extend the results given by Ishiguro [7] to four dimensional summability methods. We prove that an Abel summable double sequence is also summable the product of Abel and Zweier methods to the same limit. Besides this, we show the four dimensional Riesz and Zweier methods don't imply each other. In addition, we emphasize the four dimensional Zweier method implies the four dimensional Borel method.

1. Introduction

We denote the set of all complex valued double sequences by Ω which is a vector space with coordinatewise addition and scalar multiplication. Any vector subspace of Ω is called as a *double sequence space*. Consider the sequence $z = (z_{kl}) \in \Omega$. If for every $\varepsilon > 0$ there exists $n_0 = n_0(\varepsilon) \in \mathbb{N}$ and $\alpha \in \mathbb{C}$ such that $|z_{kl} - \alpha| < \varepsilon$ for all $k, l > n_0$, then we call that the double sequence z is *convergent* in the *Pringsheim's sense* (or *p-convergent*) to the limit α and write $p - \lim_{k, l \rightarrow \infty} z_{kl} = \alpha$; where \mathbb{C} denotes the complex field, [13]. The sequence z is called *p-null* whenever the limit α is zero. Also, we denote the space of *p-null* sequences by \mathcal{C}_{p0} .

Let $(q_k), (t_l)$ be two sequences of non-negative numbers which are not all zero and $Q_m = \sum_{k=0}^m q_k, q_0 > 0, T_n = \sum_{l=0}^n t_l, t_0 > 0$. Then, the sequence $\{(R^{qt}a)_{mn}\}$ given by

$$(1) \quad (R^{qt}a)_{mn} = \frac{1}{Q_m T_n} \sum_{k=0}^m \sum_{l=0}^n q_k t_l a_{kl} \quad \text{for all } m, n \in \mathbb{N}$$

is called the Riesz transform of a double sequence $a = (a_{kl})$. The Riesz mean R^{qt} with respect to the sequences $q = (q_k)$ and $t = (t_l)$ is *RH-regular* if and only if $\lim_{m \rightarrow \infty} Q_m = \infty$ and $\lim_{n \rightarrow \infty} T_n = \infty$, [19]. If $p - \lim_{m, n \rightarrow \infty} (R^{qt}a)_{mn} = \alpha, \alpha \in \mathbb{C}$, then the sequence $a = (a_{kl})$ is said to be Riesz convergent to α , [1]. Note that in the case $q_k = 1$ for all $k \in \mathbb{N}$ and $t_l = 1$ for all $l \in \mathbb{N}$, the Riesz mean R^{qt} reduces to the four

Received May 11, 2024. Revised September 26, 2024. Accepted October 6, 2024.

2010 Mathematics Subject Classification: 46A45, 40C05.

Key words and phrases: Double sequence, Pringsheim convergence, Four dimensional summability method.

© The Kangwon-Kyungki Mathematical Society, 2024.

This is an Open Access article distributed under the terms of the Creative Commons Attribution Non-Commercial License (<http://creativecommons.org/licenses/by-nc/3.0/>) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

dimensional Cesàro mean $C(1, 1) = (c_{mnkl})$ of orders 1 and 1 defined as follows;

$$c_{mnkl} = \begin{cases} \frac{1}{(m+1)(n+1)} & , \quad 0 \leq k \leq m, \quad 0 \leq l \leq n, \\ 0 & , \quad \text{otherwise} \end{cases}$$

for all $m, n, k, l \in \mathbb{N}$, [11].

The four dimensional Borel method B is given by the matrix

$$b_{mnkl} = \frac{e^{-(m+n)k^n l^m}}{k!l!}$$

for all $m, n, k, l \in \mathbb{N}$, (see [12]).

Now, we define the four dimensional Zweier method Z given by the matrix $Z = (z_{mnkl})$ as follows;

$$z_{mnkl} = \begin{cases} 1/4 & , \quad m-1 \leq k \leq m, \quad n-1 \leq l \leq n, \\ 0 & , \quad \text{otherwise} \end{cases}$$

for all $m, n, k, l \in \mathbb{N}$.

If we take the sequences (q_k) and (t_l) as

$$q_k = \begin{cases} 1 & , \quad m-1 \leq k \leq m, \\ 0 & , \quad \text{otherwise} \end{cases} \quad \text{and} \quad t_l = \begin{cases} 1 & , \quad n-1 \leq l \leq n, \\ 0 & , \quad \text{otherwise} \end{cases}$$

for all $m, n, k, l \in \mathbb{N}$ in the relation (1), we obtain the method Z .

Let $D = (d_{mnkl})$ be a four dimensional matrix and $z = (z_{kl}) \in \Omega$. Then, the double sequence $Dz = \{(Dz)_{mn}\}$ is called the D -transform of the sequence z , where

$$(Dz)_{mn} = \sum_{k,l} d_{mnkl} z_{kl}$$

such that the series on the right side converges for each $m, n \in \mathbb{N}$. We say that a double sequence z is D summable to the limit α if the D -transform Dz exists for each $m, n \in \mathbb{N}$ and is convergent in the Pringsheim's sense, that is,

$$(2) \quad p - \lim_{r,s \rightarrow \infty} \sum_{k=0}^r \sum_{l=0}^s d_{mnkl} z_{kl} = (Dz)_{mn} \quad \text{and} \quad p - \lim_{m,n \rightarrow \infty} (Dz)_{mn} = \alpha.$$

Taking the matrices R^{qt} , $C(1, 1)$, B and Z instead of the matrix D in the relation (2), respectively, we have R^{qt} summable, $C(1, 1)$ summable, B summable and Z summable.

Karaev and Zeltser [8] gave the definition of Abel summability of a double sequence as: A double sequence (a_{kl}) is Abel summable (shortly A summable) to α if $\sum_{i,j=0}^{\infty} a_{ij} x^i y^j$ converges for all $x, y \in (0, 1)$ and

$$\lim_{(x,y) \rightarrow (1^-, 1^-)} (1-x)(1-y) \sum_{i,j} a_{ij} x^i y^j = \alpha.$$

Following Karaev and Zeltser [8], we easily say that a double sequence (a_{kl}) is $A.Z$ summable to α if the series $\sum_{i,j=0}^{\infty} a_{ij} x^i y^j$ converges for all $x, y \in (0, 1)$ and

$$\lim_{(x,y) \rightarrow (1^-, 1^-)} \frac{(1-x^2)(1-y^2)}{4} \sum_{i,j=0}^{\infty} a_{ij} x^i y^j = \alpha.$$

A four dimensional matrix D is said to be RH -regular if it maps every bounded p -convergent sequence into a p -convergent sequence with the same p -limit (see Robison [14]).

Robison and Hamilton presented a Silverman-Toeplitz type multidimensional characterization of regularity in [14] and [6], respectively.

THEOREM 1.1. [6,14] *A four dimensional matrix $A = (a_{mnkl})$ is RH-regular if and only if*

$$RH_1 : p - \lim_{m,n \rightarrow \infty} a_{mnkl} = 0 \text{ for each } k, l \in \mathbb{N},$$

$$RH_2 : p - \lim_{m,n \rightarrow \infty} \sum_{k,l} a_{mnkl} = 1,$$

$$RH_3 : p - \lim_{m,n \rightarrow \infty} \sum_k |a_{mnkl}| = 0 \text{ for each } l \in \mathbb{N},$$

$$RH_4 : p - \lim_{m,n \rightarrow \infty} \sum_l |a_{mnkl}| = 0 \text{ for each } k \in \mathbb{N},$$

$$RH_5 : \sum_{k,l} |a_{mnkl}| \text{ is } p\text{-convergent},$$

$$RH_6 : \text{There exists finite positive integers } M \text{ and } N \text{ such that } \sum_{k,l > N} |a_{mnkl}| < M.$$

The two dimensional Zweier matrix as a summability method was studied by Szász [15] and Szász used the notation Y instead of the notation Z in [15]. Following Szász, Ishiguro [7] also studied this method. Our aim is to extend the results in Ishiguro [7] from two dimensional summability methods to four dimensional summability methods mentioned above.

Throughout the paper, we take $a_{kl} = 0$ for negative index. For relevant terminology and related topics on the normed/paranormed spaces of double sequences and the domain of triangle matrices in those spaces, and the matrix transformations, the reader can refer to Başar [2] and Başar and Yeşilkayagil Savaşçı [3].

2. Main results

THEOREM 2.1. *If a double sequence (a_{kl}) is Abel summable to α , then it is also summable $A.Z$ to the same limit.*

Proof. Assume that the double sequence (a_{kl}) is Abel summable to α , that is, the limit

$$\lim_{(x,y) \rightarrow (1^-, 1^-)} (1-x)(1-y) \sum_{i,j} a_{ij} x^i y^j = \alpha$$

holds for all $x, y \in (0, 1)$. Let $u_{mn} = (Za)_{mn} = \frac{1}{4} \sum_{k=m-1}^m \sum_{l=n-1}^n a_{kl}$ for all $m, n \in \mathbb{N}$.

Then, we have

$$\begin{aligned}
 \sum_{i,j=0}^{\infty} u_{ij} x^i y^j &= \sum_{i,j=0}^{\infty} \frac{a_{i-1,j-1} + a_{i-1,j} + a_{i,j-1} + a_{i,j}}{4} x^i y^j \\
 &= \frac{1}{4} \left[\sum_{i,j=1}^{\infty} a_{i-1,j-1} x^i y^j + \sum_{i=1}^{\infty} \sum_{j=0}^{\infty} a_{i-1,j} x^i y^j + \sum_{i=0}^{\infty} \sum_{j=1}^{\infty} a_{i,j-1} x^i y^j + \sum_{i,j=0}^{\infty} a_{i,j} x^i y^j \right] \\
 &= \frac{xy + x + y + 1}{4} \sum_{i,j=0}^{\infty} a_{ij} x^i y^j \\
 (3) \quad &= \frac{(1+x)(1+y)}{4} \sum_{i,j=0}^{\infty} a_{ij} x^i y^j
 \end{aligned}$$

and so

$$\begin{aligned}
 \lim_{(x,y) \rightarrow (1^-, 1^-)} (1-x)(1-y) \sum_{i,j=0}^{\infty} u_{ij} x^i y^j &= \lim_{(x,y) \rightarrow (1^-, 1^-)} \frac{(1-x)(1-y)(1+x)(1+y)}{4} \sum_{i,j=0}^{\infty} a_{ij} x^i y^j \\
 &= \alpha.
 \end{aligned}$$

This completes the proof. \square

THEOREM 2.2. *If a double sequence (a_{kl}) satisfies $p - \lim_{k,l \rightarrow \infty} a_{kl} x^k y^l = 0$ for all $x, y \in (0, 1)$, and if (a_{kl}) is summable A.Z to α , then it is summable A to the same value.*

Proof. The proof is obvious from the assumption and the relation (3). \square

THEOREM 2.3. *R^{qt} does not imply Z.*

Proof. Define the double sequence (a_{kl}) by

$$a_{kl} := \begin{cases} 1 & , \quad k = 3r \text{ or } l = 3s, \\ 0 & , \quad \text{otherwise} \end{cases}$$

where $r, s \in \mathbb{N}$. Then, we have the equality

$$p - \lim_{m,n \rightarrow \infty} (R^{qt} a)_{mn} := p - \lim_{m,n \rightarrow \infty} \frac{1}{Q_m T_n} \sum_{k=0}^m \sum_{l=0}^n q_k t_l a_{kl} = 0$$

for each $m, n \in \mathbb{N}$. But,

$$(Za)_{mn} = \begin{cases} 1/4 & , \quad m = n = 0, \\ 3/4 & , \quad m = 1, \text{ and } n \in \{3s, 3s + 1\}, \\ 1/2 & , \quad m = 1, \text{ and } n = 3s + 2, \\ 1/2 & , \quad m \in \{2, 3, 4, \dots\} \text{ and } n \in \{3s, 3s + 2\}, \\ 0 & , \quad m \in \{2, 3, 4, \dots\} \text{ and } n = 3s + 2, \end{cases}$$

for all $m, n, s \in \mathbb{N}$. Hence, the sequence $\{(Za)_{mn}\}$ has two limit points as $m, n \rightarrow \infty$ and so it is not p -convergent. Thus, the proof is completed. \square

Now, we can give the following corollary as a direct consequence of Theorem 2.3:

COROLLARY 2.4. *$C(1, 1)$ does not imply Z.*

THEOREM 2.5. *Z does not imply R^{qt} .*

Proof. Define the double sequence (a_{kl}) by

$$a_{kl} := \begin{cases} q_k t_l & , \quad 0 \leq k \leq m \text{ and } 0 \leq l \leq n, \\ 0 & , \quad \text{otherwise} \end{cases}$$

where $k, l, m, n \in \mathbb{N}$. For sufficiently large m and n , we have that

$$p - \lim_{m,n \rightarrow \infty} (Za)_{mn} = 0.$$

But, we easily obtain that

$$\begin{aligned} p - \lim_{m,n \rightarrow \infty} (R^{qt}a)_{mn} &= p - \lim_{m,n \rightarrow \infty} \frac{1}{Q_m T_n} \sum_{k=0}^m \sum_{l=0}^n a_{kl} q_k t_l \\ &= p - \lim_{m,n \rightarrow \infty} \frac{1}{Q_m T_n} \sum_{k=0}^m q_k^2 \sum_{l=0}^n t_l^2 = \infty. \end{aligned}$$

This completes the proof. □

COROLLARY 2.6. *Z does not imply C(1, 1).*

Proof. If we take the double sequence (a_{kl}) by

$$a_{kl} := \begin{cases} kl & , \quad 0 \leq k \leq m \text{ and } 0 \leq l \leq n, \\ 0 & , \quad \text{otherwise} \end{cases}$$

we obtain the desired result in a similar way to the proof of Theorem 2.5. □

THEOREM 2.7. *Z implies B.*

Proof. Let $u_{mn} = (Za)_{mn} = \frac{1}{4} \sum_{k=m-1}^m \sum_{l=n-1}^n a_{kl}$ for all $m, n \in \mathbb{N}$. Then, we have $a_{kl} = 4 \sum_{i,j=0}^{k,l} (-1)^{k+l-(i+j)} u_{ij}$ for all $k, l \in \mathbb{N}$.

Now, assume that the double sequence (a_{kl}) is summable Z to α , that is

$$(4) \quad p - \lim_{m,n \rightarrow \infty} (Za)_{mn} = p - \lim_{m,n \rightarrow \infty} u_{mn} = \alpha.$$

With some calculation we obtain that

$$\begin{aligned} (Ba)_{mn} &= e^{-(m+n)} \sum_{k,l=0}^{\infty} \frac{m^k n^l}{k!l!} a_{kl} \\ &= 4e^{-(m+n)} \sum_{k,l=0}^{\infty} \frac{m^k n^l}{k!l!} \sum_{i,j=0}^{k,l} (-1)^{k+l-(i+j)} u_{ij} \\ &= 4e^{-(m+n)} \sum_{i,j=0}^{\infty} \left(\sum_{k=i}^{\infty} \sum_{l=j}^{\infty} (-1)^{k+l-(i+j)} \frac{m^k n^l}{k!l!} \right) u_{ij} \\ (5) \quad &= (Cu)_{mn}, \end{aligned}$$

where $C = (c_{mnij})$ is defined by $c_{mnij} = 4e^{-(m+n)} \sum_{k=i}^{\infty} \sum_{l=j}^{\infty} (-1)^{k+l-(i+j)} \frac{m^k n^l}{k!l!}$ for all $m, n, i, j \in \mathbb{N}$.

We want to show that the matrix C is RH -regular. The condition RH_1 is obvious.

For all $m, n, i, j \in \mathbb{N}$, we have the equality

$$\begin{aligned}
 \sum_{i,j=0}^{\infty} c_{mnij} &= 4e^{-(m+n)} \sum_{i,j=0}^{\infty} \left(\sum_{k=i}^{\infty} \sum_{l=j}^{\infty} (-1)^{k+l-(i+j)} \frac{m^k n^l}{k!l!} \right) \\
 &= 4e^{-(m+n)} \sum_{i=0}^{\infty} \sum_{k=i}^{\infty} (-1)^i \frac{(-m)^k}{k!} \sum_{j=0}^{\infty} \sum_{l=j}^{\infty} (-1)^j \frac{(-n)^l}{l!} \\
 &= 4e^{-(m+n)} \sum_{k=0}^{\infty} \sum_{l=0}^{\infty} \frac{(m)^{2k} (n)^{2l}}{(2k)! (2l)!} \\
 &= 4e^{-(m+n)} \frac{e^m + e^{-m}}{2} \frac{e^n + e^{-n}}{2} \\
 (6) \qquad &= (1 + e^{-2m})(1 + e^{-2n}).
 \end{aligned}$$

If we take p -limit as $m, n \rightarrow \infty$ in the relation (6), the condition RH_2 holds.

Since $\frac{m^{i+r}}{(i+r)!} > \frac{m^{i+r+1}}{(i+r+1)!}$ for all $r \in \mathbb{N}$, we obtain the inequality

$$\begin{aligned}
 \sum_{i=0}^{\infty} |c_{mnij}| &= 4e^{-(m+n)} \sum_{i=0}^{\infty} \left| \sum_{k=i}^{\infty} \sum_{l=j}^{\infty} (-1)^{k+l-(i+j)} \frac{m^k n^l}{k!l!} \right| \\
 &= 4e^{-(m+n)} \sum_{i=0}^{\infty} \left| \sum_{k=i}^{\infty} (-1)^{k-i} \frac{m^k}{k!} \right| \left| \sum_{l=j}^{\infty} (-1)^j \frac{(-n)^l}{l!} \right| \\
 &= 4e^{-(m+n)} \left| \sum_{l=j}^{\infty} (-1)^j \frac{(-n)^l}{l!} \right| \sum_{i=0}^{\infty} \left| \sum_{k=i}^{\infty} (-1)^{k-i} \frac{m^k}{k!} \right| \\
 &< 4e^{-(m+2n)} \sum_{i=0}^{\infty} \left| \sum_{k=i}^{\infty} (-1)^{k-i} \frac{m^k}{k!} \right| \\
 &= 4e^{-(m+2n)} \sum_{i=0}^{\infty} \left| \frac{m^i}{i!} - \frac{m^{i+1}}{(i+1)!} + \frac{m^{i+2}}{(i+2)!} - \frac{m^{i+3}}{(i+3)!} + \dots \right| \\
 &= 4e^{-(m+2n)} \sum_{i=0}^{\infty} \left| \frac{m^i}{i!} - \left(\frac{m^{i+1}}{(i+1)!} - \frac{m^{i+2}}{(i+2)!} + \frac{m^{i+3}}{(i+3)!} - \dots \right) \right| \\
 &< 4e^{-(m+2n)} \sum_{i=0}^{\infty} \left| \frac{m^i}{i!} \right| \\
 (7) \qquad &< 4e^{-2n},
 \end{aligned}$$

for all $m, n, i, j \in \mathbb{N}$. So, taking p -limit in the relation (7) as $m, n \rightarrow \infty$ we obtain the condition RH_3 .

Using similar way in the relation (7), we easily have that the conditions RH_4 - RH_6 . So, the matrix C is RH -regular. Thus, by the relations (4) and (5), we obtain that

$$p - \lim_{m,n \rightarrow \infty} (Ba)_{mn} = p - \lim_{m,n \rightarrow \infty} (Cu)_{mn} = \alpha,$$

as desired. □

THEOREM 2.8. *There is a double sequence summable B but not summable Z .*

Proof. Let us define the sequence $a = (a_{kl})$ as $a_{kl} = (-2)^{k+l}$ for all $k, l \in \mathbb{N}$. One can easily see that the sequence a is Borel summable but not Zweier summable. \square

3. Conclusion

Let $0 < r, s < 1$. The Euler mean of orders r and s for double sequences defined by the four dimensional matrix $E(r, s) = (e_{mnkl}^{r,s})$ defined in [16, 18] as follows;

$$e_{mnkl}^{r,s} := \begin{cases} \binom{m}{k} \binom{n}{l} r^k s^l (1-r)^{m-k} (1-s)^{n-l} & , \quad 0 \leq k \leq m, \quad 0 \leq l \leq n, \\ 0 & , \quad \text{otherwise} \end{cases}$$

for all $m, n, k, l \in \mathbb{N}$.

In [9, 10] Kıltho et al. defined the four dimensional Pascal matrix $P = (p_{mnkl})$ by

$$p_{mnkl} = \begin{cases} \binom{m}{m-k} \binom{n}{n-k} & , \quad 0 \leq k \leq m, \quad 0 \leq l \leq n, \\ 0 & , \quad \text{otherwise} \end{cases}$$

for all $m, n, k, l \in \mathbb{N}$.

Let $L(\alpha, \beta)$ denote the method of doubly Laurent means of orders (α, β) , defined by the four dimensional matrix $L(\alpha, \beta) = (l_{mnkl}^{\alpha, \beta})$ given by Talebi [17] as

$$l_{mnkl}^{\alpha, \beta} = \binom{m+k-1}{k} \binom{n+l-1}{l} (1-\alpha)^k (1-\beta)^l \alpha^m \beta^n$$

for all $m, n, k, l \in \mathbb{N}$.

Demiriz and Erdem [4, 5] studied the four dimensional Euler-Totient matrix $\phi^* = (\phi_{mnkl}^*)$ which is defined as follows;

$$\phi_{mnkl}^* = \begin{cases} \frac{\varphi(k)\varphi(l)}{mn} & , \quad k|m, \quad l|n, \\ 0 & , \quad \text{otherwise} \end{cases}$$

for all $m, n, k, l \in \mathbb{N}$, where φ denotes the Euler function.

In this paper, we extended the results given by Ishiguro [7] from two dimensional summability methods to four dimensional Abel, Riesz, Cesàro, Borel and Zweier summability methods. I should note that one can investigate the relation between the methods mentioned above and four dimensional Zweier method.

4. Declaration

Funding: Not Applicable, the research is not supported by any funding agency.

Conflict of Interest/Competing interests: The author declares that the article is free from conflicts of interest.

Availability of data and material: The article does not contain any data for analysis.

Code Availability: Not Applicable.

Author's Contributions: The author has equal contribution for the preparation of the article.

Acknowledgement

The author is very grateful to the anonymous referee for many helpful suggestions and his/her constructive report about the earlier version of this paper which led to some improvements.

References

- [1] A. M. Alotaibi and C. Çakan, *The Riesz convergence and Riesz core of double sequences*, J. Inequal. Appl. **2012** (2012): 56, 8 pp.
<https://dx.doi.org/10.1186/1029-242X-2012-56>
- [2] F. Başar, *Summability theory and its applications*, CRC Press, Boca Raton, FL, 2022, xxvii+492 pp.
<https://dx.doi.org/10.1201/9781003294153>
- [3] F. Başar and M. Yeşilkayağıl Savaşçı, *Double sequence spaces and four-dimensional matrices*, Monogr. Res. Notes Math. CRC Press, Boca Raton, FL, 2022, xviii+233 pp.
<https://dx.doi.org/10.1201/9781003285786>
- [4] S. Demiriz and S. Erdem, *Domain of Euler-Totient matrix operator in the space L_p* , Korean J. Math. **28** (2) (2020), 361–378.
<https://dx.doi.org/10.11568/kjm.2020.28.2.361>
- [5] S. Demiriz and S. Erdem, *The spaces of almost Euler-Totient convergent and almost Euler-Totient null double sequences*, Ann. Oradea Univ. Math. Fascicola **28** (2) (2021), 21–32.
- [6] H. J. Hamilton, *Transformations of multiple sequences*, Duke Math. J. **2** (1936), 29–60.
<https://dx.doi.org/10.1215/S0012-7094-36-00204-1>
- [7] K. Ishiguro, *On the summability method (Y)*, Proc. Japan Acad. **40** (7) (1964), 482–486.
<https://dx.doi.org/10.3792/pja/1195522679>
- [8] M. T. Karaev and M. Zeltser, *On Abel convergence of double sequences*, Numer. Funct. Anal. Optim. **31** (10) (2010), 1185–1189.
<https://dx.doi.org/10.1080/01630563.2010.501263>
- [9] A. Kıltho, J. Bashir and A. M. Brono, *Some double sequence spaces generated by four-dimensional Pascal matrix*, Int. J. Math. Comput. Res. **9** (8) (2021), 2371–2375.
<https://dx.doi.org/10.47191/ijmcr/v9i8.02>
- [10] A. Kıltho, J. Bashir and A. M. Brono, *On the domain of four dimensional Pascal matrix in the space l_q^2* , Int. J. Sci. Research Publ. **11** (9) (2021), 288–292.
- [11] M. Mursaleen and F. Başar, *Domain of Cesàro mean of order one in some spaces of double sequences*, Stud. Sci. Math. Hungar. **51** (3) (2014), 335–356.
<https://dx.doi.org/10.1556/SscMath.51.2014.3.1287>
- [12] F. Nuray and R. F. Patterson, *Some Tauberian theorems for four-dimensional Euler and Borel summability*, Adv. Difference Equ. **2015** (2015): 50, 8 pp.
- [13] A. Pringsheim, *Zur theorie der zweifach unendlichen Zahlenfolgen*, Math. Ann. **53** (1900), 289–321.
<https://dx.doi.org/10.1007/BF01448977>
- [14] G. M. Robison, *Divergent double sequences and series*, Trans. Amer. Math. Soc. **28** (1926), 50–73.
<https://dx.doi.org/10.2307/1989172>
- [15] O. Szász, *On the product of two summability methods*, Ann. Soc. Polon. Math. **25** (1952), 75–84.
- [16] G. Talebi, *Operator norms of four-dimensional Hausdorff matrices on the double Euler sequence spaces*, Linear Multilinear Algebra **65** (11) (2017), 2257–2267.
<https://dx.doi.org/10.1080/03081087.2016.1267108>
- [17] G. Talebi, *Boundedness problem of four-dimensional matrices on the domain spaces of L_p* , Results Math. **74** (1) (2019), 1–16.
<https://dx.doi.org/10.1007/s00025-019-0958-2>

- [18] M. Yeşilkayağıl and F. Başar, *Domain of Euler mean in the space of absolutely p -summable double sequences with $0 < p < 1$* , Anal. Theory Appl. **34** (3) (2018), 241–252.
<https://dx.doi.org/10.4208/ata.OA-2017-0056>
- [19] M. Yeşilkayağıl and F. Başar, *Domain of Riesz mean in some spaces of double sequences*, Indag. Math. (N.S.) **29** (3) (2018), 1009–1029.
<https://dx.doi.org/10.1016/j.indag.2018.03.006>

Medine Yeşilkayağıl Savaşcı

Faculty of Applied Sciences, Uşak University, 1 Eylül Campus,
64200 - Uşak, Türkiye

E-mail: medine.yesilkayagil@usak.edu.tr